**Contract Committee Review Request** 

MIO21 RE COMPLETED IN	FULL Date: June 7, 2022
Contract/Agreement Ven	dor: Renaissance Learning Susie Beauchamp
	Name of Vendor & Contact Person
	susie.beauchamp@renaissance.com
	Vendor Email Address
	Renaissance Learning provides STAR 360 Benchmark Assessment for grades K-  9. Contract includes use of STAR 360, STAR CBM and STAR Custom. This is a four year agreement.  Describe Contract (Technology, program, consultant-prof Development, etc.)
	Please use Summary below to fully explain the contract purchase , any titles, and details for the Board of Education to review.
	BAPS Students in Grades K-9.
	Reason/Audience to benefit
	June 27, 2022 \$306,000.00
	BOE Date Amount of agreement
Person Submitting Contra	act/Agreement for Review: Jennifer Peterson
PLEASE SEND THROU	GH APPROPRIATE APPROVAL ROUTING BEFORE SENDING TO BOARD CLERK
Principal &/or Director o	Administrator:
Trincipal <u>ayor</u> birector o	Administratori
Dans this Courtes at /A suga	mont utilize technology VERVING
	ment utilize technology YES/NO
If yes, Technology Admin	( / "Y
Leadership Team Membe	trong Deep
Funding Source: Bond/1	02 102-1000-734-100-1050-000-sites
	nd/Project OCAS Coding
Accent	and approve the renewal agreement between Broken Arrow Public Schools and
	ance Learning. Renaissance Learning provides STAR 360 Benchmark
	nent for grades K-9. Contract includes use of STAR 360, STAR CBM and
Consent STAR C	ustom. This is a four year agreement. This is year three of the four year
agreem	ent. Per the agreement, invoicing for \$306,000.00 done in year one and year
	a total of \$612,000.00. The cost to the District for year three is \$306,000.00
	be paid with Bond Funds. during year four./J. Peterson
1,40,00%	

The Contract/Agreement should be received at least 2 weeks prior to a Board Meeting to ensure placement on the Agenda. The Contract Committee meets most Tuesdays at 8:00a.m. All Contracts/Agreements, regardless the amount, must be first approved by the Contract Committee and then presented to the Board of Education for approval and signature. The item will be placed on Electronic School Board for the board agenda by Janet Brown. By following this process, the liability of entering into an agreement is placed with the district rather than an individual.

This area must be complete with full explanation of contract

April 8, 2020

Broken Arrow Public Schools Attention: Jennifer Peterson 701 S Main St Broken Arrow, OK 74012

Dear Jennifer,

Renaissance is pleased to work with Broken Arrow Public Schools to allow the following payment terms for quote 2303187.

1. Invoices will be sent according to the following schedule:

Description	Due Date	Amount
1st Invoice	July 1, 2020	\$306,000.00
2nd Invoice	July 1, 2022	\$306,000.00
	Totals:	\$612,000.00

- 2. Renaissance will invoice according to the schedule above. If your organization requires a purchase order, please check the box below and issue your purchase order to the Renaissance address below no later than 15 days prior to each respective Invoice Date. Payment is due net 30 days from the Invoice Date.
- 3. If your billing address is different from the address at the top of this Quote, please add that billing address below.
- 4. Send all payments to:

Renaissance

P.O. Box 8036

Wisconsin Rapids, WI 54495-8036

Please sign and return this schedule along with any other appropriate paperwork to process the order. Please retain one completed copy of the paperwork for your records. Fax a copy to the attention of: Order Services at 877-280-7642. Or email a copy to electronic orders@renaissance.com or mail a copy to: Renaissance, 2911 Peach Street, Wisconsin Rapids, WI 54494. If you have any questions, please contact me at 866-559-6671.

Thank you, Susie Beauchamp.

AGREED TO:

Please check here if your organization requires a purchase order prior to invoicing: [\_]

Renaissa	псе	Broken Arrow Public Schools
Ву:	10111	By:
	Ted Wolf	
Date:	April 8, 2020	Date:

Name:	Ted J. Wolf	Name:		
	VP-Corporate Controller, Finance	-	(Typed or printed)	
	& Accounting			

4) 2018 Renaissance. All rights reserved. All logos, designs, and brand names for Renaissance's products and services are trademarks of Renaissance Learning, Inc. P.O. Box 8036 | Wisconsin Rapids, WI 54495-8036 | (800) 338-4204 | www.renaissance.com

\$0.00

\$0.00

Reference ID: 286152

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642 Federal I.D. 39-1559474 www.renaissance.com

Broken Arrow Public Schools - 219265

701 S Main St

Broken Arrow, OK 74012-5528

Contact: Jennifer Peterson - (918) 259-5700

Renaissance Products & Services Total

Email: jpeterson@baschools.org

**Quote Summary** School Count 23 \$927,524.00 \$(315,524.00)

Sales Tax USD \$612,000,00 **Grand Total** 

This quote includes: Renaissance Star 360.

\*\* USD \$114,337.50 of the discount is due to paying for multiple years up front.

To receive applicable discounts, all orders included on this quote must be received at the same time.

By signing below, you

Applied Discounts

Shipping and Processing

- agree that this Quote, any other quotes issued to you during the Subscription Period and your use of the Applications, the Hosting Services and Services are subject to the Renaissance Terms of Service and License located at https://doc.renlearn.com/KMNet/R62416.pdf which are incorporated herein by reference;
- consent to the Terms of Service and License; and
- consent to the collection, use, and disclosure of the personal information of children under the age of 13 as discussed in the applicable Application Privacy Policy located at https://www.renaissance.com/privacy/.

To accept this offer and place an order, olease sign and return this Quote.

Renaissance will issue an invoice for this Quote on the earlier of (a) the date You specify below or (b) the day before Your Subscription Period starts (Invoice Date). If You require a purchase order, You agree to provide one to Renaissance at least 15 days before the Invoice Date. You also agree to pay the invoice within 30 days of the Invoice Date.

Please check here if your organization requires a purchase order prior to invoicing: [ ]

Renaissance Learning, Inc.	Broken Arrow Public Schools - 219265
Ted Loll	Ву:
Name: Ted Wolf	Name:
Title: VP - Corporate Controller	Title:
	Date:
Law -	Invoice Date:

Email: electronicorders@renaissance.com

lf your bi	illing address is different from the address at the top of this Quote, please add that billing address below.
Bill To:	

If changes are necessary, or additional information is required, please contact your account executive Susie Beauchamp at (918)948-8278, Thank You.

**Quote** # 2303187

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642 Federal I.D. 39-1559474 www.renaissance.com

All quotes and orders are subject to availability of merchandise. Professional development expires one year from purchase date. Alterations to this quote will not be honored without Renaissance approval. Please note: Any pricing or discount indicated is subject to change with alterations to the quote. Tax has been estimated and is subject to change without notice. Unless you provide Renaissance with a valid and correct tax exemption certificate applicable to your purchase of product and the product ship-to location, you are responsible for sales and other taxes associated with this order.

United States government and agency transactions into Arizona: The Tax or AZ-TPT item(s) listed on this quote and subsequent invoice(s) is a charge to recover the cost of the Arizona Transaction Privilege Tax ('TPT'). The incidence of the TPT is on Renaissance Learning for the privilege of conducting business in the State of Arizona. Since the tax is not directly imposed on the United States, the constitutional immunity of the United States does not apply.

Hawaii residents only: Orders shipped to Hawaii residents will be subject to the 4.166% (4.712% O'ahu Is.) Hawaii General Excise tax. United States government and agency transactions into Hawaii; The Tax or General Excise Tax item(s) listed on this quote and subsequent invoice(s) is a charge to recover the cost of the Hawaii General Excise Tax. The incidence of the General Excise Tax is on Renaissance Learning for the privilege of conducting business in the State of Hawaii. Since the tax is not directly imposed on the United States, the constitutional immunity of the United States does not apply.

New Mexico residents only: Orders shipped to New Mexico residents will be subject to the 5.125% (Location Code: 88-888) Gross Receipts tax. United States government and agency transactions into New Mexico: The Tax or Gross Receipts Tax item(s) listed on this quote and subsequent invoice(s) is a charge to recover the cost of the New Mexico Gross Receipts Tax. The incidence of the Gross Receipts Tax is on Renaissance Learning for the privilege of conducting business in the State of New Mexico. Since the tax is not directly imposed on the United States, the constitutional immunity of the United States does not apply. Starting July 1, 2021 New Mexico requires sellers to collect tax on the state and local rate. This varies depending on the city and county.

Students can become their most amazing selves — only when teachers truly shine. Renaissance amplifies teachers' effectiveness in the classroom — transforming data into actionable insights to improve learning outcomes. Remember, we're here to ensure your successful implementation. Please allow 30-90 days for installation and set-up.

Quote Details						
Broken Arrow Public Schools - 219265						
Products & Services	Subscription Period	Quantity	Unit Price	Total		
Quote Year 1						
Data Integration Services						
Custom Data Integration Level 4 (1,501 - 15,000 Subscriptions) - Renewal	09/01/2020 - 08/31/2021	1	\$3,125.00	\$3,125.00		
	Quote \	ear 1 Subtotal		\$3,125.00		
Quote Year 2						
Data Integration Services				<del>,,,, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,</del>		
Custom Data Integration Level 4 (1,501 - 15,000 Subscriptions) - Renewal	09/01/2021 - 08/31/2022	1	\$3,125.00	\$3,125.00		
	Quote \	ear 2 Subtotal		\$3,125.00		
Quote Year 3						
Data Integration Services						
Custom Data Integration Level 4 (1,501 - 15,000 Subscriptions) - Renewal	09/01/2022 - 08/31/2023	7-	\$3,125.00	\$3,125.00		
	Quote \	ear 3 Subtotal		\$3,125.00		
Quote Year 4						
Data Integration Services						
Custom Data Integration Level 4 (1,501 - 15,000 Subscriptions) - Renewal	09/01/2023 - 08/31/2024	ğ	\$3,125.00	\$3,125.00		
	Quote Y	ear 4 Subtotal		\$3,125.00		
	Broken Arrow Public Sc	hools Subtotal		\$12,500.00		
- Annual Control of the Annual Control of the Contr		olied Discounts		\$(12,500.00)		
	Broken Arrow Public	Schools Total		USD \$0.00		

Arrowhead Elementary School - 21927/5						
Products & Services	Subscription Period	Quantity	Unit Price	Total		
Quote Year 1			· · · · · · · · · · · · · · · · · · ·			
Applications						
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00		
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	486	\$1.15	\$558.90		
Star 360 Subscription	09/01/2020 - 08/31/2021	486	\$14.25	\$6,925.50		
Platform Services						
Annual All Product Renaissance Platform Renewal	09/01/2020 - 09/31/2021	1	\$750.00	\$750.00		
Professional Services			·			
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00		

# **Quote** # 2303187

# RENAISSANCE°

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642 Federal I.D. 39-1559474

www.renaissance.com

	Quote Ye	ear 1 Subtotal		\$8,234.40
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	486	\$14,95	\$7,265.70
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		3	\$0.00	\$0,00
	Quote Ye	ear 2 Subtotal		\$8,015.70
Quote Year 3				
Applications	23112			
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	486	\$15.70	\$7,630.20
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Ye	ear 3 Subtotal		\$8,380.20
Quote Year 4	*			
Applications				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	486	\$16.50	\$8,019.00
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Ye	ar 4 Subtotal		\$8,769.00
	Arrowhead Elementary Sci			\$33,399.30
		ied Discounts		\$(14,921.88)
	Arrowhead Elementary	School Fotal	USL	\$18,477.42

Aspen Greek Barly Childhood Center - 3528816						
Products & Services	Subscription Period	Quantity	Unit Price	Total		
Quote Year 1						
Applications						
Star 360 One-Lime Fee - Existing Customer		1	\$0.00	\$0.00		
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	486	\$1.15	\$558.90		
Star 360 Subscription	09/01/2020 - 08/31/2021	486	\$14.25	\$6.925.50		

**Quote** # 2303187

Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 1 Subtotal		\$8,234.40
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	486	\$14.95	\$7,265.70
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 2 Subtotal		\$8,015.70
Quote Year 3				
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	486	\$15.70	\$7,630.20
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750,00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 3 Subtotal		\$8,380.20
Quote Year 4				
Applications				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	486	\$16.50	\$8,019.00
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 4 Subtotal		\$8,769.00
Asp	en Creek Early Childhood Co			\$33,399.30
	App Aspen Creek Early Childhoo	lied Discounts		\$(11,639.22) \$21,760.08

Aspen Greek Elem	entary School - 219221		National State of	
Products & Services	Subscription Period	Quantity	Unit Price	Total

**Quote** # 2303187

Applications				
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	486	\$1.15	\$558.90
Star 360 Subscription	09/01/2020 - 08/31/2021	486	\$14.25	\$6,925.50
Platform Services		-Minoral Control		
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 1 Subtotal		\$8,234.40
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	486	\$14.95	\$7,265.70
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 2 Subtotal		\$8,015.70
Quote Year 3				
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	486	\$15.70	\$7,630.20
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
·	Quote Y	ear 3 Subtotal		\$8,380.20
Quote Year 4				
Applications				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	486	\$16.50	\$8,019.00
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
		ear 4 Subtotal		\$8,769.00
	Aspen Creek Elementary S			\$33,399.30
		olled Discounts		\$(11,639.22)
	Aspen Creek Elementa	y School Total	USI	\$21,760.

**Quote** # 2303187

Products & Services	Subscription Period	Quantity	Unit Price	Total
Quote Year 1		A P	L	
Applications				
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	486	\$1.15	\$558.90
Star 360 Subscription	09/01/2020 - 08/31/2021	486	\$14,25	\$6,925.50
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.00
Professional Services			'	
Renaissance Smart Start Product Training (included with purchase)	***************************************	3	\$0.00	\$0,00
	Quote \	/ear 1 Subtotal		\$8,234.40
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	486	\$14.95	\$7,265.70
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	7	\$750,00	\$750.0
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.0
	Quote \	ear 2 Subtotal		\$8,015.7
Quote Year 3				
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	486	\$15.70	\$7,630.20
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote \	ear 3 Subtotal		\$8,380.20
Quote Year 4				
Applications				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	486	\$16.50	\$8,019.0
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1 1	\$750.00	\$750.0
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.0

\$8,769.00	Quote Year 4 Subtotal
\$33,399.30	Centennial Middle School/ BA Virtual Subtotal
\$(11,639.22)	Applied Discounts
USD \$21,760.08	Centennial Middle School/ BA Virtual Total

Ohilide & Widdle	School - 219200			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Quote Year 1				
Applications				
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	572	\$1.15	\$657.80
Star 360 Subscription	09/01/2020 - 08/31/2021	572	\$14.25	\$8,151.00
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote \	ear 1 Subtotal		\$9,558.80
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	572	\$14.95	\$8,551.40
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote \	ear 2 Subtotal		\$9,301.40
Quote Year 3				
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	572	\$15.70	\$8,980.40
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote \	ear 3 Subtotal		\$9,730.40
Quote Year 4	WILL STREET			
Applications				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	572	\$16.50	\$9,438.00

**Quote** # 2303187

Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Ye	ear 4 Subtotal		\$10,188.00
	Childers Middle So	hool Subtotal		\$38,778.60
	Арр	lied Discounts	\$	(12,871.40)
	Childers Middle	School Total	USD	\$25,907.20

Products & Services	Subscription Period	Quantity	Unit Price	Total
Quote Year 1		make the state of		
Applications				
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	586	\$1.15	\$673.90
Star 360 Subscription	09/01/2020 - 08/31/2021	586	\$14.25	\$8,350.50
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.08
	Quote Y	ear 1 Subtotal		\$9,774.4
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	586	\$14.95	\$8,760.70
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 2 Subtotal		\$9,510.70
Quote Year 3				
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	586	\$15.70	\$9,200.20
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 09/31/2023	1	\$750.00	\$750.00
Professional Services				

**Quote** # 2303187

	Quote Ye	ear 3 Subtotal		\$9,950.20
Quote Year 4				
Applications	W 4150			
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	586	\$16.50	\$9,669.00
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
**************************************	Quote Ye	ear 4 Subtotal		\$10,419.00
С	ountry Lane Intermediate Sc	hool Subtotal		\$39,654.30
	Арр	lied Discounts	\$	3(13,072.02)
	Country Lane Intermediate	School Total	USD	\$26,582.28

Country Lane Prin	nany Seligiol - 21/2/251			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Quote Year 1				
Applications	NO.			
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Star 360 Subscription Alignment **	08/01/2020 - 05/31/2020	586	\$1.15	\$673.90
Star 360 Subscription	09/01/2020 - 08/31/2021	586	\$14.25	\$8,350.50
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750,00	\$750.00
Professional Services	10000000			
Renaissance Smart Start Product Training (included with purchase)		1	\$0,00	\$0.00
	Quote \	ear 1 Subtotal		\$9,774.40
Quote Year 2	7.71			
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	586	\$14.95	\$8,760.70
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote \	'ear 2 Subtotal		\$9,510.70
Quote Year 3				
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	586	\$15.70	\$9,200.20

Quote # 2303187

Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750,00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	S0.00
	Quote Y	ear 3 Subtotal		\$9,950.20
Quote Year 4				
Applications				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	586	\$16.50	\$9,669.00
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 4 Subtotal		\$10,419.00
	Country Lane Primary Sc	hool Subtotal		\$39,654.30
	Арр	lied Discounts	\$	\$(13,072.02)
	Country Lane Primary	y School Total	USD	\$26,582.28

Creekwood Elemen	tany Selicel - 219229			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Quote Year 1				
Applications				
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	586	\$1.15	\$673.90
Star 360 Subscription	09/01/2020 - 08/31/2021	586	\$14.25	\$8,350.50
Platform Services				***************************************
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	'ear 1 Subtotal		\$9,774.40
Quote Year 2				
Applications	de la companya de la			
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	586	\$14.95	\$8,760.70
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 09/31/2022	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00

	Quote Y	ear 2 Subtotal		\$9,510.70
Quote Year 3				
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	586	\$15.70	\$9,200.20
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 3 Subtotal		\$9,950.20
Quote Year 4				
Applications				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	586	\$16.50	\$9,669.00
Platform Services		**************************************		
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0,00	\$0.00
	Quote Ye	ear 4 Subtotal		\$10,419.00
	Creekwood Elementary So	hool Subtotal		\$39,654.30
Walter William School Renner on Sales Hilliam		lied Discounts		3(13,072.02)
	Creekwood Elementary	/ School Total	USD	\$26,582.28

Highland Park Elem	entary School - 219279			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Quote Year 1				
Applications				
Star 360 One-time Fee - Existing Customer	***	i	\$0.00	\$0.00
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	586	\$1.15	\$673.90
Star 360 Subscription	09/01/2020 - 08/31/2021	586	\$14.25	\$8,350.50
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 1 Subtotal		\$9,774.40
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	586	\$14.95	\$8,760.70

**Quote** # 2303187

Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
Professional Services		<u>'</u>		
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 2 Subtotal		\$9,510.70
Quote Year 3	Walting the same of the same o			
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	586	\$15.70	\$9,200.20
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750,00	\$750,00
Professional Services		-/		
Renaissance Smart Start Product Training (included with purchase)		1 1	\$0.00	\$0.00
	Quote Y	ear 3 Subtotal		\$9,950.20
Quote Year 4				
Applications				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	586	\$16,50	\$9,669.00
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services		*************		
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 4 Subtotal		\$10,419.00
1	Highland Park Elementary Sc	thool Subtotal		\$39,654.30
		lied Discounts		\$(13,072.02)
	Highland Park Elementary	y School Total	USD	\$26,582.28

Lefsure Park Elema	nterry School - 219214			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Quote Year 1			- No.	
Applications				
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Star 360 Subscription Alignment **	08/01/2020 - 09/31/2020	586	\$1.15	\$673.90
Star 350 Subscription	09/01/2020 - 08/31/2021	586	\$14,25	\$8,350.50
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	î	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	80,00

**Quote** # 2303187

	Quote Y	ear 1 Subtotal		\$9,774.40
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	586	\$14.95	\$8,760.70
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
Professional Services	***************************************		****	
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 2 Subtotal		\$9,510.70
Quote Year 3				
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	586	\$15.70	\$9,200.20
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 3 Subtotal		\$9,950.20
Quote Year 4				
Applications				
Star 360 Subscription Renewal	69/01/2023 - 08/31/2024	586	\$16.50	\$9,669.00
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Ye	ear 4 Subtotal		\$10,419.00
	Leisure Park Elementary Sc			\$39,654.30
and the second s		lied Discounts		(13,072.02)
	Leisure Park Elementary	School Total	USD	\$26,582.28

Liberty Elementary School - 219263					
Products & Services	Subscription Period	Quantity	Unit Price	Total	
Quote Year 1					
Applications					
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00	
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	586	\$1.15	\$673.90	
Star 360 Subscription	09/01/2020 - 08/31/2021	586	\$14.25	\$8,350 50	

Quote # 2303187

Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0,00	\$0,00
	Quote Ye	ear 1 Subtotal		\$9,774.40
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	586	\$14.95	\$8,760,70
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quate Ye	ear 2 Subtotal		\$9,510.70
Quote Year 3				
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	586	\$15.70	\$9,200.20
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Ye	ear 3 Subtotal		\$9,950.20
Quote Year 4				
Applications				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	586	\$16.50	\$9,669.00
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Ye	ear 4 Subtotal		\$10,419.00
	Liberty Elementary Sc			\$39,654.30
		lied Discounts		5(13,072.02)
	Liberty Elementary	School Total	USD	\$26,582.28

Lynn Wood Elem	emany School - 219228			
Products & Services	Subscription Period	Quantity	Unit Price	Total

	Lynn Wood Elementa			D \$26,582.2
	Lynn Wood Elementary S	plied Discounts		\$(13,072.02
		/ear 4 Subtotal		\$10,419.00
Renaissance Smart Start Product Training (included with purchase)		1 1	\$0.00	\$0.00
Professional Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	ι ι	\$750.00	\$750.00
Platform Services				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	586	\$16.50	\$9,669.0
Applications			1	
Quote Year 4				
<u> </u>	Quote Y	ear 3 Subtotal		\$9,950.2
Renaissance Smart Start Product Training (included with purchase)	Ċ.	1	\$0.00	\$0.0
Professional Services				114
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750.00
Platform Services				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	586	\$15.70	\$9,200.20
Applications	-11,			
Quote Year 3				
ACHAISSAINSE OFFICIAL CHARLES FOR THAIRING (FIGURES THAI PARTIES SA)	Quote Year 2 Subtotal			\$9,510.70
Renaissance Smart Start Product Training (included with purchase)		1 1	\$0.00	\$0.00
Professional Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
Platform Services		1		
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	586	\$14.95	\$8,760.70
Applications				
Quote Year 2	Quote I	Car I Gastotal		
Renaissance Smart Start Product Training (included with purchase)	Ounto V	ear 1 Subtotal	50.00	\$9,774.40
Professional Services		T 1 T	\$0.00	\$0.00
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$730.00	\$750.00
Platform Services	20.00	T , T	\$750.00	\$750.0
Star 360 Subscription	09/01/2020 - 08/31/2021	586	\$14.25	\$8,350.50
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	586	\$1.15	\$673.90
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Applications			40.00	<u> </u>

Oak Grest Elemen	any School - 219246			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Quote Year 1				
Applications				
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.0
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	586	\$1.15	\$673.9
Star 360 Subscription	09/01/2020 - 08/31/2021	586	\$14.25	\$8,350.5
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.0
Professional Services		100		
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.0
	Quote \	ear 1 Subtotal		\$9,774.4
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	586	\$14.95	\$8,760.7
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.0
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.0
	Quote \	ear 2 Subtotal		\$9,510.7
Quote Year 3	and the second s			
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	586	\$15.70	\$9,200.2
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750.0
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.0
P. A. S.	Quote Y	ear 3 Subtotal		\$9,950.2
Quote Year 4		The second secon		
Applications		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	586	\$16.50	\$9,669.0
Platform Services				Service
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.0
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1 1	\$0.00	\$0.0

\$10,419.00	Quote Year 4 Subtotal
\$39,654.30	Oak Crest Elementary School Subtotal
\$(13,072.02)	Applied Discounts
USD \$26,582.28	Oak Crest Elementary School Total

Oliver Mtddle S	Selfool - 219212			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Quote Year 1				
Applications				
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	586	\$1.15	\$673.90
Star 360 Subscription	09/01/2020 - 03/31/2021	586	\$14.25	\$8,350.50
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 1 Subtotal		\$9,774.40
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	586	\$14.95	\$8,760.70
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 2 Subtotal		\$9,510.70
Quote Year 3				- unrelies
Applications				
Star 360 Subscription Renewal	09/01/2022 - 09/31/2023	586	\$15.70	\$9,200.20
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 09/31/2023	1	\$750,00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 3 Subtotal		\$9,950.20
Quote Year 4				
Applications				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	586	\$16.50	\$9,669.00

**Quote** # 2303187

Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Ye	ear 4 Subtotal		\$10,419.00
	Oliver Middle Sc	hool Subtotal		\$39,654.30
300000000000000000000000000000000000000	Арр	ied Discounts	\$	(13,072.02)
	Oliver Middle	School Total	USD	\$26,582.28

Oneta Ridge Mi	dile Silinol -219261			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Quote Year 1				
Applications				
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	586	\$1.15	\$673.90
Star 360 Subscription	09/01/2020 - 09/31/2021	586	\$14.25	\$8,350.50
Platform Services				36
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote \	ear 1 Subtotal		\$9,774.40
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	586	\$14.95	\$8,760.70
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 2 Subtotal		\$9,510.70
Quote Year 3				
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	586	\$15.70	\$9,200.20
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00

Quote # 2303187

	Quote Y	ear 3 Subtotal		\$9,950.20
Quote Year 4		11 11 11 11 11		
Applications				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	586	\$16.50	\$9,669.00
Platform Services		***************************************		
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services		***************************************		
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Ye	ear 4 Subtotal	1 1 1 1 1 1 1	\$10,419.00
	Oneta Ridge Middle So	hool Subtotal		\$39,654.30
Applied Discounts			\$(13,072.02)	
	Oneta Ridge Middle	School Total	USI	\$26,582.28

Park Lane Barly Chill	hood Center - 3528816			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Quote Year 1				
Applications				
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	586	\$1.15	\$673.90
Star 360 Subscription	09/01/2020 - 08/31/2021	586	\$14.25	\$8,350.50
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote \	'ear 1 Subtotal		\$9,774.40
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	586	\$14.95	\$8,760.70
Platform Services				
Annual All Product Renaissance Platform Renawal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	'ear 2 Subtotal		\$9,510.70
Quote Year 3				
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	586	\$15.70	\$9,200.20

Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Ye	ear 3 Subtotal		\$9,950.20
Quote Year 4				
Applications				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	586	\$16.50	\$9,669.00
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services				2 20 2 2 4
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Yo	ear 4 Subtotal		\$10,419.00
F	Park Lane Early Childhood Co	enter Subtotal		\$39,654.30
	Арр	lied Discounts		\$(13,0 <b>7</b> 2.02)
	Park Lane Early Childhoo	d Center Total	USI	\$26,582.28

Rhoades Element	ary School - 219255			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Quote Year 1				
Applications		- Markin - Section - 1		
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	586	\$1.15	\$673.90
Star 360 Subscription	09/01/2020 - 08/31/2021	586	\$14.25	\$8,350.50
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Year 1 Subtotal			\$9,774.40
Quote Year 2	and the state of t			
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	586	\$14.95	\$8,760.70
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
Professional Services				
Rensissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00

	Quote Y	ear 2 Subtotal		\$9,510.70
Quote Year 3				
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	586	\$15.70	\$9,200.20
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750,00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
440	Quote Year 3 Subtotal			\$9,950.20
Quote Year 4				
Applications				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	586	\$16.50	\$9,669.00
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 4 Subtotal		\$10,419.00
	Rhoades Elementary Sc	chool Subtotal		\$39,654.30
		lied Discounts		\$(13,072.02)
	Rhoades Elementar	y School Total	USI	\$26,582.28

Rosewood Eler	remary School - 7830271			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Quote Year 1				
Applications				
Star 360 One-Time Fee		1	\$1,599.00	\$1,599.00
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	1,000	\$1.15	\$1,150.00
Star 360 Subscription	09/01/2020 - 08/31/2021	1,000	\$14 25	\$14,250.00
Platform Services				
Annual All Product Renaissance Platform	09/01/2020 - 08/31/2021	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchas	e)	1	\$0.00	\$0.00
	Quote \	'ear 1 Subtotal		\$17,749.00
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	1,000	\$14,95	\$14,950.00

Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750,00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1 1	\$0.00	\$0.00
	Quote Y	ear 2 Subtotal		\$15,700.00
Quote Year 3				
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	1,000	\$15.70	\$15,700.00
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750,00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Year 3 Subtotal		\$16,450.0	
Quote Year 4				
Applications				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	1,000	\$16.50	\$16,500.00
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services		·		****
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Ye	ear 4 Subtotal		\$17,250.00
	Rosewood Elementary Sc	hool Subtotal		\$67,149.00
		lied Discounts		\$(17,657.10)
	Rosewood Elementary	School Total	USI	\$49,491.90

Sequoyah Midd	(e School - 21924)3			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Quote Year 1				
Applications				
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Star 360 Subscription Alignment **	09/01/2020 : 08/31/2020	586	\$1.15	\$673.90
Star 360 Subscription	09/01/2020 - 08/31/2021	586	\$14.25	\$8,350.50
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00

# **Quote** # 2303187

# RENAISSANCE°

Quote Yo	ear 1 Subtotal		\$9,774.40
09/01/2021 - 08/31/2022	586	\$14.95	\$8,760.70
09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
	1	\$0.00	\$0.00
Quote Y	ear 2 Subtotal		\$9,510.70
09/01/2022 - 08/31/2023	586	\$15.70	\$9,200.20
09/01/2022 - 08/31/2023	1	\$750.00	\$750.00
	1	\$0.00	\$0.00
Quote Y	ear 3 Subtotal		\$9,950.20
09/01/2023 - 08/31/2024	586	\$16.50	\$9,669.00
09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
	1	\$0.00	\$0.00
Quote Y	ear 4 Subtotal		\$10,419.00
			\$39,654.30
			\$(13,188.42) \$26,465.88
	09/01/2021 - 08/31/2022  Quote Young of the Property of the Pr	09/01/2021 - 08/31/2022 1  Quote Year 2 Subtotal  09/01/2022 - 08/31/2023 586  09/01/2022 - 08/31/2023 1  Quote Year 3 Subtotal  09/01/2023 - 08/31/2024 586	09/01/2021 - 08/31/2022

Spring Greek Elementary School - 219219						
Products & Services	Subscription Period	Quantity	Unit Price	Total		
Quote Year 1			50n=== ,			
Applications						
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00		
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	586	\$1.15	\$673.90		
Star 360 Subscription	09/01/2020 - 08/31/2021	586	\$14.25	\$8,350.50		

**Quote** # 2303187

Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 1 Subtotal		\$9,774.40
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	586	\$14.95	\$8,760.70
Platform Services	1,11			
Annual Ali Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 2 Subtotal		\$9,510.70
Quote Year 3				
Applications				
Star 360 Subscription Renewal	09/01/2032 - 05/31/2023	586	\$15.70	\$9,200.20
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Yo	ear 3 Subtotal		\$9,950.20
Quote Year 4				
Applications				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	586	\$16.50	\$9,669.00
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Yo	ear 4 Subtotal		\$10,419.00
	Spring Creek Elementary Sc			\$39,654.30
	App Spring Creek Elementary	lied Discounts		\$(13,072.02) \$26,582.28

Timber Ridge Elementary - (5592120)					
Products & Services	Subscription Period	Quantity	Unit Price	Total	

**Quote** # 2303187

Applications				
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	586	\$1.15	\$673.90
Star 360 Subscription	09/01/2020 - 08/31/2021	586	\$14.25	\$8,350.50
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 1 Subtotal		\$9,774.40
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	586	\$14.95	\$8,760.70
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
Quote Year 2 Subtotal				\$9,510.70
Quote Year 3				
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	586	\$15.70	\$9,200.20
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Y	ear 3 Subtotal		\$9,950.20
Quote Year 4				
Applications				
Star 360 Subscription Renewal	09/01/2023 - 08/31/2024	586	\$16.50	\$9,669.00
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
		ear 4 Subtotal		\$10,419.00
3 3	Timber Ridge Eleme			\$39,654.30
Applied Discounts			\$(13,072.02)	
Timber Ridge Elementary Total			USD \$26,582.28	

Products & Services	Subscription Period	Quantity	Unit Price	Total		
Quote Year 1						
Applications						
Star 360 One-time Fee - Existing Customer	1	\$0.00	\$0.00			
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	586	\$1.15	\$673.9		
Star 360 Subscription	09/01/2020 - 08/31/2021	586	\$14.25	\$8,350.50		
Platform Services						
Annual All Product Renaissance Platform Renewal	09/01/2020 - 08/31/2021	1	\$750.00	\$750.0		
Professional Services	2000 100					
Renaissance Smart Start Product Training (included with purchase)	Renaissance Smart Start Product Training (included with purchase)					
· · · · · · · · · · · · · · · · · · ·	Quote Y	'ear 1 Subtotal		\$9,774.40		
Quote Year 2						
Applications						
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	586	\$14.95	\$8,760.70		
Platform Services						
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.0		
Professional Services						
Renaissance Smart Start Product Training (included with purchase)		1 1	\$0.00	\$0.0		
		\$9,510.70				
Quote Year 3						
Applications						
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	586	\$15.70	\$9,200.20		
Platform Services						
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750.00	\$750.00		
Professional Services						
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00		
	Quote Year 3 Subtotal			\$9,950.20		
Quote Year 4						
Applications						
Star 360 Subscription Renewal	586	\$16.50	\$9,669.00			
Platform Services						
Annual All Product Renaissance Platform Renewal	1	\$750.00	\$750.00			
Professional Services						
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.0		

# Quote # 2303187

# RENAISSANCE®

PO Box 8035, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642 Federal I.D. 39-1559474

www.renaissance.com

\$10,419.00	Quote Year 4 Subtotal
\$39,654.30	Vandever Elementary School Subtotal
\$(13,072.02)	Applied Discounts
USD \$26,582.28	Vandever Elementary School Total

Wolf Greek Elemen	hary School - 219203			
Products & Services	Subscription Period	Quantity	Unit Price	Total
Quote Year 1				
Applications				
Star 360 One-time Fee - Existing Customer		1	\$0.00	\$0.00
Star 360 Subscription Alignment **	08/01/2020 - 08/31/2020	608	\$1.15	\$699.20
Star 360 Subscription	09/01/2020 - 08/31/2021	608	\$14.25	\$8,664.00
Platform Services				
Annual All Product Renaissance Platform Renewal	1	\$750,00	\$750.00	
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote \	ear 1 Subtotal		\$10,113.20
Quote Year 2				
Applications				
Star 360 Subscription Renewal	09/01/2021 - 08/31/2022	608	\$14.95	\$9,089.6
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2021 - 08/31/2022	1	\$750.00	\$750.0
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.0
	Quate \	ear 2 Subtotal		\$9,839.6
Quote Year 3				
Applications				
Star 360 Subscription Renewal	09/01/2022 - 08/31/2023	608	\$15.70	\$9,545.6
Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2022 - 08/31/2023	1	\$750,00	\$750.0
Professional Services				
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.0
	Quote \	ear 3 Subtotal		\$10,295.6
Quote Year 4				
Applications				
Star 350 Subscription Renewal	09/01/2023 - 08/31/2024	608	\$16.50	\$10,032.0

**Quote** # 2303187

PO Box 8036, Wisconsin Rapids, WI 54495-8036 Phone: (800) 338-4204 | Fax: (877) 280-7642 Federal I.D. 39-1559474 www.renaissance.com

Platform Services				
Annual All Product Renaissance Platform Renewal	09/01/2023 - 08/31/2024	1	\$750.00	\$750.00
Professional Services			•	
Renaissance Smart Start Product Training (included with purchase)		1	\$0.00	\$0.00
	Quote Ye	ear 4 Subtotal		\$10,782.00
Wolf Creek Elementary School Subtotal			\$41,030.40	
Applied Discounts			\$	(13,387.24)
Wolf Creek Elementary School Total			USD	\$27,643.16

<sup>\*\*</sup>This item is pro-rated for less than full year subscription period.

Lexile is a registered trademark of MetaMetrics, Inc.

©Copyright 2022 Renaissance Learning, Inc. All rights reserved.

All logos, designs, and brand names for Renaissance's products and services are trademarks of Renaissance Learning, Inc., and its subsidiaries, registered, common law, or pending registration in the United States. All other product and company names should be considered the property of their respective companies and organizations.

PO Box 8036 Wisconsin Rapids WI 54495-8036 Federal I.D. #39-1559474

Bill To:

**Broken Arrow Public Schools** 701 S Main Street Broken Arrow, OK 74012-5528 INVOICE #5 5249057

Customer Number:

2219265

Invoice Date:

6/6/2022

Ship To:

**Broken Arrow Public Schools** 

701 S Main Street

Broken Arrow, OK 74012-5528

Date	Due Date	Customer P.O. Number
6/6/2022	7/6/20221	
Qty Ord	Description	Price Ext. Price
	Products & Services	
	Star Subscription Fee	305,999.90

Total Gross	Discount	Tax	Total Net	Pending Billing	Net Due
305,999.90	0.00		305,999.90	0.00	\$305,999.90

Please include the invoice number with your payment.

Please Send Payment To:

ATTN: Contract Payments

**ACH/Wire Payment:** 

Bank:

Wells Fargo Bank, N.A.

420 Montgomery St.

San Francisco, CA 94104

Renaissance PO Box 8036

ABA/Routing: 121000248

Wisconsin Rapids WI 54495-8036

SWIFT Code: WFBIUS65

Account Name: Renaissance Learning, Inc.

Account #: 4945088771

If you would like all future invoices emailed to you please let us know

If you have any questions concerning this invoice, please contact 877-988-8048 Ext: 7769 or arcontracts@renaissance.com